SHOCKWAVE" &
STANDARD DRIVING

OCKWAVE" IMP. DUTY SETS

15 Pc SHOCKWAVE™ 1" Insert| 15 Pc SHOCKWAVE™ 2" Power | 10 Pc SHOCKWAVE™ 1" Square | 25 Pc SHOCKWAVE™ 1" Insert| 10 Pc SHOCKWAVE™ 1" Square

Bit Phillips #2 Set Bit Phillips #2 Set Recess Insert Bit #2 Set Bit Phillips #2 Set Recess Insert Bit Phillips #2 Set
48-32-5003 48-32-5004 48-32-5008 48-32-5009 48-32-4607
Includes:
Includes: Includes: Includes: Includes:
- - = (25) 1" Phillips #2
= (15) 1" Phillips #2 = (15) 2" Phillips #2 = (10) 1" Square Recess #2 » . = (10) 1" Square Recess #2
(Gravity Feed Merchandiser) (Gravity Feed Merchandiser) (Gravity Feed Merchandiser) ® (1) SHOCKWAVE™ 2.36 (PDQ Tray Merchandiser)
Magnetic Bit Tip Holder

25 Pc SHOCKWAVE™ 1" Insert Bit
Phillips #2 Set

22 Pc SHOCKWAVE™ Puck

12 Pc SHOCKWAVE™ Drive Guide Set (10 per Tube)

22 Pc SHOCKWAVE™ Puck

48-32-4604 SRR 48-32-4011 eSOl
Includes: Includes: Includes:
Y ECK™ Bit: (1) ECX £1. (1) ECX 4 = 1" Slotted Bits: (1) SL 1/8", (1) SL 3/16", = 1" Slotted Bits: (1) SL 1/8", (1) SL 3/16",

: . Pﬁi”i sgist: ()2>gH#2’ ((1)) PCH#S (1) SL1/4", (1) SL 9/32" (1) SL1/4", (1) SL 9/32"

Includes: .y SIottSd i s s aie = 1" Phillps Bits: (1) PH#1, (3) PH #2, (2) PH #3 = 1" Phillips Bits: (1) PH #1, (3) PH#2, (2) PH#3

= (25 1" Philips #2 . 1 Square B ()50 42 = 1" Square Bits: (1) SQ #1, (3) SQ #2, (1) SQ 43 = 1" Square Bits: (1) SQ #1, (3) SQ #2, (1) S #3

(PDQ Tray Merchandiser) (uare BIL: = 1" TORX® Bits: (1) TX10, (1) TX15, (1) TX20, (1) TX25, | = 1" TORX® Bits: (1) TX10, (1) TX15, (1) TX20, (1) TX25,

= 1" TORX® Bits: (1) TX15, (1) TX20, (1) TX25 (1) TX27, (1) TX30 (1)TX27, (1) TX30
= (1) SHOCKWAVE™ 3" Magnetic Drive Guide = (1) SHOCKWAVE™ 2.36" Magnetic Bit Holder = (1) SHOCKWAVE™ 2.36" Magnetic Bit Holder
® (1) Drive Guide Case (Gravity Feed Merchandiser) (PDQ Tray Merchandiser)

18 Pc SHOCKWAVE™ 26 Pc SHOCKWAVE™ 29 Pc SHOCKWAVE™ 35 Pc SHOCKWAVE™
Driver Bit Set Drive and Fasten Set Driver Bit Set Drill and Drive Set
48-32-4403 48-32-4408 48-32-4401 48-32-4402
Includes: Includes: Includes: Includes:
= Phillips Bits: 1" - (1) PH#1, (1) PH#2, (1) PH#3; = Phillips Bits: 1" - (1) PH #1, (3) PH #2, (1) PH #3; 2" - = Phillips Bits: 1" - (1) PH#1, (7) PH #2, u PTiIHps Bits: 1" - (1) PH#1, (2) PIE-I #2,(1) PH#3;
2"~ (2) PH#2, (1) PH#3; 3-1/2" - (1) PH#2 (1) PH#2 (2) PH #3; 2" Power - (2) PH#2, (1) PH#3 2"- (1) PH#2, (1) PH#3; 3-1/2" - (1) PH#2
e qn f " I . = Square Bits: 1" - (1) SQ #1, (4) SQ #2, = Square Bits: 1" - (1) SQ #1, (2) SQ #2, (1) SQ #3;
= Slotted Bl.ts, 1 ) (1) SL 174", (1) SL 3/16 ] gﬁtfaqe 2%3#12 (1) SQ #1, (2) SQ #2, (1) SQ #3; (1) SQ #3; 2" Power - (2) SQ #2 2 (1)SO#1, 1) SQ42, (1) SQ#3; 31/2" - 1) SQ 42
= Square Bits: 1" - (1) SQ #1, (1) SQ #2; U] : = Tone® Bits: 1" - (1) TX15, (1) TX20, = 1" ECX™ Bits: (1) ECX #1, (1) ECX #2
2"-(2)SQ#2, (1) SQ #3; 3-1/2" - (1) SQ #2 - TS,JRX@) Bits: 1" - (2) TX20, (2) TX25, (1) TX30; (1) TX25; 2" Power - (1) TX25 = 1" Slotted Bits: (1) SL 1/8", (1) SL 3/16", (1) SL 1/4"
= TORX® Bits: 2" - (1) TX15, (1) TX20 2"- (1) TX20, (1) TX25 = Magnetic Nut Drivers: (1) 1/4" Red, = 2" TORX® Bits: (1) TX15, (1) TX20, (1) TX25, (1) TX 30
= (1) Case with Bulk Storage Container = Slotted Bits: 1" - (1) SL 3/16" (1) 5/16" Amber, (1) 3/8" Blue = (1) 1/4" Hex to 3/8" Square Adapter; (1) 1/4" Hex to 1/2"
= (1) SHOCKWAVE™ Magnetic Bit Holder : Sl y H;x toD 38" §q1ua:e/ ﬁfja?te?:/gu o : Magnetich BE:t Eolder ‘ . gg‘r’s‘; Q(ﬁg;{em it Holder
lagnetic Nut Drivers: (1) ,(1) ,(1)5 Case with Bulk Storage Container w Impact Drill Bits: (1) 7/32", (1) 174", (1) 1/8", (1) 5/32",
= 3/8" Drives: (1) 1/2" Socket, (1) 9/16" Socket (1)3/16”
= (1) SHOCKWAVE™ Compact Magnetic Bit Holder = 7/8" Impact Magnetic Nut Drivers: (1) 1/4", (1) 5/16", (1) 3/8"

STANDARD DRIVING BIT SETS

- 't

21 Pc Driver Bit Set 21 Pc Drive Guide Set 38 Pc QUIK-LOK™ Drill and Drive Set 40 Pc Drive Guide Set
48-32-0221 48-32-1700 48-32-1500 48-32-1505

70 Nothing but HEAVY DUTY:’




